Aerial Cam Unit

- B-HUCT -

B-HUCT65(00° ~75° )
A
B
( ’#\ 0T
8 S T : : :
o3
533 4-$11-$17.5 2-410H7
154005 C+o0.02 890
! (Tolerances are from Dowel Pin Hole.) !
6.3
o ™~
®| ~
@
®—
o
™
N
O
3
o~
6.3
=
—)
S
8 (2]
S
—
[-*]
15+0.05 135+0.02 K@ =
& (Tolerances are from Dowel Pin Hole.) 8
@ 165
\— J

roroweozcowons A I N
Email : mk@asianadvanced.co.th

AAAAAAAAAAAAAAAAAAAAAAAA




Aerial Cam Unit

- B-HUCT -

w 0 S A B (o D E F G H 1
0 22.50 255.00 | 79.20 | 150.80 | 58.50 9 160.00
5 22.60 265.68 | 82.29 | 147.71 | 67.10 95 170.68
10 27.20 256.04 | 86.29 | 143.71 | 75.40 181.04
15 27.80 27% 248 266.02 | 91.18 | 138.82 | 83.30 75 191.02
20 32.30 50 255.53 | 96.93 | 133.07 | 90.80 60 195.53
25 33.40 264.51 | 103.48 | 126.52 | 97.80 204.51
30 38.00 252.88 | 110.79 | 119.21 | 104.03 40 212.88
B-HUCT65 35 40.20 260.58 | 118.80 | 111.20 | 110.20 220.58
40 45.00 242.56 | 122.45 | 107.55 | 120.40 20 222.56
45 48.70 248.75 | 131.67 | 98.33 | 125.00 228.75
50 54.50 290 260 236.28 | 125.98 | 104.02 | 148.10 0 236.28
55 61.00 240.78 | 136.14 | 93.86 | 153.10 240.78
60 70.00 60 234.50 | 145.31 | 84.69 | 159.80 10 244 .50
65 68.50 231.79 | 146.72 | 83.28 | 145.20 276.79
70 67.20 228.97 | 147.89 | 82.11 | 159.00 45 273.97
75 69.50 233.82 | 167.79 | 62.21 | 153.54 278.82

Table of Components

No. Description Qty | Material and Remark

(1) | cam Slider 1 | QT500

(2) | cam Driver 1 | QT500

(3 | cam Holder 1 | QT500

@ Slide Keeper 2 | 45

@ Positive Return Follower B 1| 45

@ Positive Return Follower A 1| 45

(@) | Stopper Plate 1 | Q235

Cam Slide Guide 1 | Bronze

@ Lower Plate 1 | Bronze

Spring Guide Pin 1 | Q235

@ Stopper 2 | 215x13
E @ Coil Spring 1
E @ Dowel Pin with Female Thread | 2 | @10 x 30
- Hexagon Socket Brazier Head Bolt | 2 | M10 x 20
3 @ Hexagon Socket Brazier Head Bolt | 2 | M8 x 18
g Hexagon Socket Head Bolt | 4 | M10 x 30
-~ @ Hexagon Socket Head Bolt | 5 | M8 x 20

Order No :

Catalog No. | | (W) | - | (0) |
B - HUCT 65 75

I I PAT oo
Email : mk@asianadvanced.co.th



Aerial Cam Unit

- B-HUCT -

Working Force kN(tonf) Spring Force N (kgf)
CatalogNo. | (W) | () | g | Standard | AMlowable LA LR
Working Working | |hitial Load | Final Load 9
Force Force
(one million strokes) | (300,000 strokes)
00 22.5 18.4
05 22.6 18.6
10 27.2 17.4
15 27.8 17.5
20 32.3 16.6
25 334 16.8
4578.0
30 38.0 (466.9) 16.9
35 40.2 50.0 100.0 0.0 17.0
B-HUCT | 65 (5.1) (10.2) (0.0)
40 45.0 16.4
45 48.7 16.6
50 54.5 15.9
55 61.0 16.1
60 70.0 16.4
)
=
4553.0 —)
65 | 685 (464.3) =
4514.9 "S
70 67.2 (460.5) 18.0 c__c
S
4553.0 =T
75 69.5 (464.3)

ADDTTIONALE DIE COMPONENTS
Email : mk@asianadvanced.co.th

AAAAAAAAAAAAAAAAAAAAAA



o@/mv
|9ABl1]| SSeld

o€ | oSe O
|oAel| |ssald [onel] ssald
518 MTose — o0 |
’ —— — |oABI] SS8Id
¢le \ %
= 34 o k) Y/
NS 9 5/ & ¥/ @ QY @ 2
2 N ~ N <@ sl

OQ«
|oAeI] Ssaid

%

35

o
70° I—A.

25°
40°
55°

|onel] sseld %9

|
L1y 7

Keave
GOmV OQN OON.
|oAel] sseld ,_m>mﬂ.r mmmi
|eAel| sseld m.wm @.mm

|oAB1] SSBld

Iw.wm \ — \_ 7729
— ™/
©ol @ ) Y, le} @
N ° & s 2 S/ & ® o « %
N © e & ¥ N SN &
> = IS > ) © g e
o O <@ b\
Lo o o o
o I~ = S

ADDTTIONALE DIE COMPONENTS
Email : mk@asianadvanced.co.th

S S oOd °0g

o

|oAeRI] SS
|onel] sseid

old :
|enel] sseid g@ 1%4
8'9¢ —

£

o ©
o)) — o/ = lo} A 0 -

o o 9 Q

a qe|l 9 Ne | /& | L2 2004

(] 3 S g IS g < <o

Els < % ° ° 2, i
() © — % % © ™~

=
—
=
o
S
©
"
@
=

1
—
(=
—
T
(= =]

1

Aerial Cam Unit

'ASIAN ADVANGED TECHNICA GO, LTD.



Spring Diagram

Aerial Cam Unit

ADDTTIONALE DIE COMPONENTS
Email : mk@asianadvanced.co.th

00° 05° 10°
4578.0 4578.0 4578.0
(466.9) (466.9) (466.9)
3557.8 3570.8 |- 3740.9
(362.8) (364.2) (381.5)
e et |
Length at Finel Loa(ﬂﬂ u.81Punch Return: 5 mm) Length Y Loarﬂm UJ(Punch Return: 5 mm) LepghaFrelloed 15 || 6.4(Punch Return: 5 mm)
Free Length 150 Free Length 150 Free Length 150
[ TH40-150] [ TH40-150] [ TH40-150 ]
15° 20° 25°
4578.0 4578.0 4578.0
(466.9) (466.9) (466.9)
3754.0 3871.7 3897.8
(382.9) (394.9) (397.5)
1 | 1 o 1 7
LengthatFrelLeed 15 || 6.3(Punch Return: 5 mm) Lengh il Loed 1) || 5.4(Punch Return: 5 mrm) LenghatFrlLesd 115 || 5.2(Punch Return: 5 mm)
Free Length 150 Free Length 150 Free Length 150
[ TH40-150] [ TH40-150] [ TH40-150 ]
30° J5® 40°
4578.0 4578.0 4578.0
(466.9) (466.9) (466.9)
3976.3 4002.5  JTITIIIIIIIIIN 4067.9 JIITIIIIIIIIIN
(405.5) (408.2) (414.9)
1 imi 1 1
V p 7
Length a{F\na\ Load Im M.B(Punch Return: 5 mm) Length at Fnal Load 115 | | 4.4(Punch Return: 5 mm) Lengthat Final Load 115 | | 3.9(Punch Return: 5 mm)
Free Length 150 Free Length 150 Free Length 150
[ TH40-150] [ TH40-150] [ TH40-150]
45° 50° 556°
4578.0 4578.0 4578.0
(466.9) (466.9) (466.9)
41071 JTITITITIIIORN 4159.4 4198.7
(418.9) (424.2) (428.2)
7 1 Ol 1 T
7 V ;
Length at Fing Load 115 | | 3.6(Punch Return: 5 mm) Length at Final Load WM B.Z(Punch Return: 5 mm) Length at Final Load 115 | | 2.9(Punch Return: 5 mm)
Free Length 150 Free Length 150 Free Length 150
[ TH40-150] [ TH40-150] [ TH40-150]
60° 65° 70°
4578.0 4553.0 4514.9
(466.9) (464.3) (460.5)
4251.0 42233 [IIIIIIIIIIIIN 4181.2 IIIIIIIIIIIIN
(433.6) (430.7) (426.4)
1 7 e e
v Y T
Length at Fina Load WM Q.5(Punch Return: 5 mm) Lengtha{ﬂna\ Load %6 2.1(Punch Return: 5 mm) Lengtha{Fma\ Load 77 1.7(Punch Return: 5 mm)
Free Length 150 Free Length 125 Free Length 100
[ TH40-150] [ TH40-125] [ TH40-125]
75°
4553.0
(464.3)
4223.3
(430.7)
j———
Length at Final Load %J BJ(Punch Return: 5 mm)
Free Length 125
[ TH40-125]

- B-HUCT -

=
—]
=
<
(]
c
=
@S
=

paT I

ASIAN ADVANGED TEGHNICA GO, LTD.



